trig - 5.4 - introduction to identities and graphs November 15, 2013

Turn in homework #2:

Please make sure each section is neatly labeled; all sections are stapled
together in order, and your full name is written neatly on the irst page.

* 5.2 #35-410dd; 59-750dd

* 5.3 #1-350dd; 37-48all; 61-68all
* 5.4 #1-22all;
* 5.4 #33-390dd

Homework questions?
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Reciprocal Identities
1

CSCX = — , Sinx =

Sllix CS(ix
secx = , COsSx =

C015x SEfx
cotx = , tanx =

tan x cotx

Ratio Identities
COS X

tanx = S , cotx = —
COSX sinx

Odd-Even Identities

cos(—x) = cosx , sin(—x) = —sinx , tan(—x) = —tanx

sec(—x) =secx , csc(—x) = —cscx , cot(—x) = —cotx

Pythagorean Identities
sin?x +cos’x =1
1+ cot?x = csc?x
tan?x + 1 = sec?®x
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Use the trigonometric identities to write each expression in terms of a single
trigonometric function or constant.
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Use the trigonometric identities to write each expression in terms of a single

trlgonometrlc function or constant. _t_ 2 _ 2
o X+| = se¢
SinX+cos’X = | X
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Perform the indicated operation and simplify. z 2 2
(o) =0 Zabt b

78. (sint + cos t)?
2
= siptl +2 sittcastt-cos™t
=sint +cos Lt + ZSir\'tcost
N

=-(i+fhﬁﬁECO§£Z)

Factor the expression.
Let w=cost
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Graphs of the sine and cosine functions

y=sinx
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y=COSX
dom aicL -

(-2, o)

Domain/Range/Period/Graphs of the other 4 Trig functions?

Function Domain Range Period
y = sinx (—00, 00) [—1,1] 21
_ Yy =C0SX (—o0, ) [—1,1] 2w
( v=cscx {x|x is not an integer multiple of m} | (—co0,—1] U [1,0) 2
Y = secx {xlx is not an odd multiple of g} (-, 1] U [1,00) 2n
> y =tanx {x|x is not an odd multiple of g} (=00, ) T
(‘ y = cotx {x|x is not an integer multiple of m} (—, ) T
Why?
C ( f
SCK =
‘ Sinx - -+
SQC_)( = (
CosX
t ‘ —
aNk = SINX
A LA
Cosx
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Homework for Test #1:

HW #1: Submitted 11/08:

« 51#1,2,718all, 31 74 all
« 4 problems on handout

« 5.2#1 330dd

HW #2: Submitted Friday 11/15:
« 5.2 #35-410dd; 59-750dd

« 5.3 #1-350dd; 37-48all; 61-68all
o 5.4 #1-22 all;
« 5.4 #33-390dd

HW #3: Due Monday 11/19:
« 5.4 #41-670dd; 71-970dd
« Test #1 Practice Problems (handout)

Test #1 - Wednesday, 11/20
Quiz #3 - Now!
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